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1.1 WBEHERHAERSX A,
W) [x[<3 &= 2° -3<x<3

(1) [x[<3 1° 4<x<6
(2) [x-1[<3 2°  -3<x<3
(3) |3 -2x[<1 3° x>3@x<-1
(4) |1 +2x]|=<1 4° x> 2
S (5) [x-1]>2 5° —2<x<4
(6) [x+2]=5 6° -vVisxs-1HI<x<J3
(7)) [5-x71|<1 771<x<?
$ (8 [x-5|<Ix+1] 8° x<-7THx>=>3
(9) lxt-2]<1 9° —61—<x<%~
(10 x<x*-12<4x 10° -1<x<0

I

7. (1) «2° (2) 5% (3) &7% (4) <10°; (5) <>3%
(6) €8% (7)) <>9°% (8) <>4° (9) «>6° (10) <>1°%
1.2 R TREEWHELy, HHHES,
(1) =<5z <5
B WA, Bh Ix]1<55-5<x<5%M, ME=x<5F%H,
(2) Ix=-5|<2mB3<xL7T
W WLAEH, BH lx—5!<2ﬂn—z<x-s<z,ﬁ-‘)%v13<x<7,'

€3) |1+3x|<1§ﬂx>—i§i Q_%
‘,/ \ / \\{)7
B: BSEAH, Hh-1<1+3x<1h ~—<x<0§br, ﬂx/{\,,tj\:j:;g, i

r=-L gl xkTFE.

C4) TRESH#S, BH]x-1]=|x -2,
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@ WEEARE, Bi(x-1)?=(x-2)*# x =

Ix~-1]=]x - 2|,

1.3 RTFFRERGAILRS #E&fﬂﬁiﬁ%ﬂﬂéo
(1) —11<x<8%/—-GSX<11 Q ® 2EBsN -6<xgs,
(2) -8<x<6B®-4<x<32, g M AR -4<x<2,

TAEHT LR,

(1) |"x|=lx[.
ke AN {EE X
]X‘:{ X, x20, I—X|={ (-2)=x, x=0,
-x, x<0, - X, x< G,
AL, [x|=]-x].
() lx-yl=ly-xl,
s Hl.4 (1) A, lx-yl=l-(y=x)]=]ly-x,
(3) | x| =A/%%,
it HAH Xy x=0, . x, x>0,
=1 3=
IXI {— X X<0) «/X {" xy x<0
L, IX|=\/X—’
() Ix/yl=1xl/ly]l <g#0) .,
iE: HBEEENRENEEX, B
x
>
v ? x>0, y>0
! %7 Xey>0, :—;—=;;X<01 y<0
J£= 0, x=0, 1xl. 0o, x =0
y x 171 X x
-‘?, xey<0;, _—y=""}7) x>0, y<0,
(5= >
y "-y’ X<0, y oo
saErR, Hlx/yl=1xl/1yl.
(58) [x+y|<| x| +lyl
iE: HAEMNEMWNEX, &
-l x|<x<| x], -lylsy<|yl, Kinig
-Uxl+|yD<x+y<ix| +]|yl|s

B Ix+yl<ix|+]yl.
2 (6) Ixl-lyl=<! Ix| =1yl | S]x~- yISIXHIyI

W 161 x] - |y | BRI, B AR ERER [xl-(yI< | 1x]-1y] 18
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RWIL, Rt x, y BH25:4, 8% x|yl =xy, |x]2=x% |yl2=y* .
AEAPIRFEE - 2, 8 -2 x|yl <-2xy,

x| 2=2|x[ly|+|yl*<x*-2xy+y¥y? Ux] -y 2<(x-¥)?

JAx[= 1y D<=y, Sl -lyl <zl

FHE =R, o - Ixl=x<x] -lyl<-y<|yls
ZARER A mE - (x| +|yDh <x-y<|x|+1y].

Ix-yI<|x]+]yl,
whisk, # Ixl-lyI<lIxl=Iyll<lzx-yi<ix|+]lyl.
a+m a

(7) Bfta, b, mALEH, Ha<b E T b

i #b>aWimEREIESm, FAKimME ab &
ab+bm>ab+am , b(a +m) >a(b+m) ,

BHb, b+m#ERLZIEH, Hb(b +m)REBREA%EN R ‘“b——_';*;l—>—-b—'.
(8) Ha>0, b>0, W 2r2>/56

i ‘ca, DEMEEN, ¥ Wa-~/b)>0, a-2,a/b+b=0,

~%i’. >./3b.

(9) x>0, M x+i>2 HEMYx=18, ST

X
e BxAER BA% (Vi-—=) 20, x-2/x-—+—->0,
A x Jx X
F)’rux+~i—>2i_"a,kla¥s JE - o= oMEEAE, HYHMS x =]
X

B, F5HIL,

10) |g, +xp+ +Xn|<<[X [+ [ %} + e+ [x0]|

iE: ﬁ%%{%%ﬂﬂfﬁ%ﬂ-@qz. L= 2 I, ;ﬁ{&ﬁ lxl +X2|<lx1l+lle

D) s T A ) ~ _ L ATE - I - ()'

®dn =k~ 1 WAERML, EHa -kﬂ*fz:éfft:j}“ﬁz?‘é/.kl‘zh;’ﬁ K%ﬂ'zﬁ
|X1+xz+"’+xk_11<lxll+_)X2I+"'+lxk-17\\ '
| (x4 x4 o+ x0_y) +xp ) << x FXa F e X Xy

<|x,| +]x:] doe k[ xp ]+ Xy

Bk [x, +xg 4+ eeeeee +xa | Six |+ xe] o+ x,
1.5 fBEAR%EN
1
(1) - 2<x+ 2<2
1

M wERA | | <z, Ix+zi>

x4+ 2
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B

BE x+ 2>, i x+2>% 1 x>~§
BE x+2<0, B -(x+2) > x+z<-l0 0 grxc-d
BN, x<-o W x>-3
x— 2 X -2

“>|;:T[>;Tr

wpo X2 o gy l x LZ! S¥72 x=2-x-2 g
< l/{)'u; ] w1 x+1’x+1>x+1’ﬁ7‘tz‘ﬂﬁaw‘
b/ 3_*_:_,?* l 2{‘,2- ! _x-2 PR - :{_"_2_\ -2
4 o<k 1 1 8530k s 17 T
<o ow [fTEZ0 0 pem e
X + | +1<g ° X+ 12>0

x{-1 7 x>-1

VHATRGERATE, SERERZ R -1 <x<2
(3) [x-Al<e (>0 BHHO
fife HRIGR R

—e<lx—-A<Ze , MRS A-e<<x<<{A +¢
2x+ 1)(x—2) >0

4
(4> 3x—~ 1 )
fR: Zix=-1, x=28, FMAHNWEZ0, 4 x= Eﬂb eyl ke H &
Xo BATLEEAM- 1, 3y 2 HREEEEIIIHEA DS, HRTLEBE,
1]
x<-1 ~l<x<*§~ { 3<x<2 x> 2
x+1 - + + +
x - 2 - - - +
3x - 1 - - + +
2(x +1)(x=2)
35— 1 | - + = *

METEN, RFSRMWARE -1<x<y % x>2

1.6 FFEUORTR

o (1) |x*-2x+ 2 |>x2=3x+2
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B MUHEETR, xh—WEEN, SR, RERMAN - o x <oo
(2) x2=-7x+12> ¢ . (x—=3) (x=4)>0

i {x‘—3>o x> 3 x-3<0 x< 3
= { #X>4 EZ.‘ { { -
x—42>0 x> 4 . x-—-4<0=$ X< 4 X< 3
BRAT Ui x< 8 W x> 4
(3) |x(1 -x)[=<<0.5
fe TR A iy = 1k R 1
[X(X l)]‘\t ‘2‘ ‘I—Z‘\ X X<—5
1 A N 1 1\2_3
y=(-g) -y, -=(x-%) <7
1y2_.3 i
-) < S =
(( 2) 4 l > Ty ' <—75—
/3 1 3 ] T_ﬁ/j< < 1 +~/ﬁi
—‘\‘2——*\/:2{ = i“’:/’:z** 2 =XS D)
A 25 T RN DS RS 1
2 s T2
(4) =2x244x-7>>0
§, 2xP-4x+ 7<O0  xX'-2x+1 +%<o (X—1)2+-2§<0
FABR AT RT 0, RGN IR,
(5) x3+x2-30x< 0 B, x(x+6)(x—-5)<0
x <~ 6 -6<x<0 0<x<5 J x>5
‘KA“ i - i
x - - + 1 +
x+6 - + + +
x -5 - - - +
x(x+6X(x—-5) =~ - + - +
FEXEs  x<~6 H 0<xL5 '
1.7 ARGl '
Xx—-2(x=-3)>14
(1L Jx 1
l-i“—(x— 3) >T
1 =>{ 1 AERARESN <2
X—-2x+ 6 > X <{b5 )
2 2
2) {x+ L <(x+D)(x+2)
( XX+ +x(x+2)>02x~1)(x+3)
i, J‘( x2.i-2x-320:;|’ (x+;’3)(:{——1).';07:;> ]x>l W ox<-3
Uox< 3 2x <3 lx<3/2



FERAMBH x<-3 R 1<x<-§.

1.8 BREH f((x)=x+1

(3)

. f(2)=2+1=3

f.

1.10

2

-{(2)=-(2+1)=-3

1

1

X B ¥ #

f(a+b),

=1 f(a+bh)=a+b+ 1

F(2) "3 +1 "3
1.9 % o(t)=[t-3|+[t=1]3kK: 9(0), 9(1), o(-1), P(~2),

3 +J0-1]=3+1=4,
3|+l -1]=|-2]+0=2,
1-3]+]-1—-1]=4+2=¢;

P(-2)=|-2-3|+|-2-1]=5+3=38,

w(0)=1]0 -
p(1)=]1 -
(- L)=]-
K f(x+h)~ f(x) "y

(1) f(x)=ax+b

s

. f(x+h)-{(x) (x+h)?+4(x+h)+1 —x*—4x~1
h h
2 2 L - _ — —
= X’ +2xh+h ".1_’}.‘151‘}11‘* L =x"24x-1 o ovi4+h
(3) f(x)=—1_
X
11
g, (Gxr-1C) _ x+h  x . x-x-h _ -1
: h h h(x+h)x x(x+h)
1.11 84 Gw=3 RKG(0), Gu+Au)-Gu),
#: G(0)=3 Gu+Au)-Gu)=3-35=0,
1.12 & ¥(x)=e*—-1, R¥Y(0), W), ¥(n2) .
R, Y(0)=e°-1=1-1=9 W(g)=ee~1

1.13

.

f(x+h)=-f(x) _ a(x+h)+b-ax-b

h

h

(2) f(x)=x2+4x+ 1

;k; f(Z)’ f("'Z), "f(Z)’

f(-2)=-2+1=-1

(@) -per- il

Y(lp2)=e'*2-1=2~-1=1
f(x)=1g=*, K £(10%), £(-0.000),

&

]

1(10%) =1g(10%)2=1glo*= ¢

~
Pl

k]



£(=0.001) =18(=0.001)2 =1 g(0.000001) = — &

i 2 1 =X e , 1 1

1.14 1% o((x) T Re(~x), ox)+1, rp( = ), R

n, _ ~1-=-(=x) _ 1+x 1 -x _ 2
B @(=x) 1+(-x) 1-x P HL =gt 1 =5
1 -1
qn(i)=_~____l‘____=.*.’f_.:‘_l.~ b 1t _1+x
x «1+(1) X+ 1 P (x) 1-x 1-x
x 1 +x
y sint -2<t<0 " x .

1.15 f(t) = ki, f{=).f(-:= f(4)
i {1 e omtcz O (2)-1(-9)
f(1)=14+13= Y =1+ (2) = nt

e f(=1+13=2 f(z) 1+(2) 142
_.jt__ =§$i -_“1 =——ﬁ. 4 - 3 NI
f( 4) s:n( 4) 5 B ot=48, {()EEEN.
1.16 & G(x) = {lxl ) x <1 RG(- 1), G(5), G(—-l—)
0 | x[>=1 4
- 1y _J1_1 _
M G-D=0  G(3)=|3]|=5 Gr=0
ol 1 = -—i =._1.
C’('T)‘l 4 l 4
1.17 & 1 x>0
y= 0 xX=0
BATSE | x<0
CERBIR T EEE, Bk sgnx) , R y(0)s y(- 2), y(100),
B 7(0)=0 y(-2)=-1 y(100) = 1

YM.18 B4 (1) f(x)=ax (a#0), (2)f(x)=_11;,

(3) = [pL*X H{x)+i(y)=1(z), Kz

1~x
2. (1) f2)=f{x)+i(y)=ax+ay=az Zz=X+y
~1_1.1 - Xy
(Z)f(z)—?—‘x—‘*‘y Z x+7y
S R SRS R S 0 SR ¢ L3 T ¢ 8F &
(3) f(i)—ln—i-:——ln - + {n -y ln(l—:f)(l——y)

1+z _ (1+x)(1+y)
1 -2 (1 -x)(1-y)

N e

.(1 -x)(l-y)+2(1—x)(1-y')=(1 +x)(1+y)=z(1+x)(1+y)

z = A+x)Q+y)-(-x) (1-y) X4y
A=-x)A=-y)+(1+x) (1+¥) 1 +xv




1.19 &f(u) =lgu 3RiE,
(1) fw+fu+1)y=ifuu+1)]
M f) +f(u+) =1lgu+ligu+1) =1gCuu+DI={CuCu+1)]
(2) f(x)-fy)=1(x/y)
iE: f(x)-((y) =lgx—-lgy =lg(x/y) ={(x/y)
1.20 % o) =e%, Fif; eXDQ(y) =9(x+y) 9x)/@(y) =q(x~y)
E: (X ep(y) =e cT=e* T =q(x+y)
p(x)/p(y)=e*/e?=e* T=@(x~5)
1.21 Gf¢t) =t%?—~2cost, 3RiL, {(=2a)=1{(a)
iE: f(—-a)=(—-1t)?=2cos(—t)=t2~2cost=1(a)
1.22 #i(x) =2x-sinx Kk {(~t)=-1(1)
iFs f(-t)=2(=t)=sin(—-t)==2t+sint= —{(t)

1.23 f(X)=L%(a‘+a"‘) (a>0) RiIE: f(x+y) +f(x—-y) =2{(x)(y)

Ef(x+y)+fx-y) = —;[a”’ +a” (x+1) 1.+%«[a“” +a- (x=7) ]

—

= éf[a"-a“ra"‘a" +a*a"¥+a-*av ]=%[(a“+a"‘)ay + (a*+a~*)a '-U

=%; (a"+a"‘) (ay t+a”’ ) =2f(x)E(y)

1.24 % f(x)=ax+b HEF f(0)=-2, f(3)=5 Ff(2),
%, f(0)=b=-2, f(3)=3a-2=5 , a=

wia

fw=%tx-2 , f@=Ixz-2-2
1.25 % f(=ax?+bxtc, H [(-2)=0, {(0)=1, {(1)=5,
1
k-1, ().

8, {(-2)=4a—-2b+c=10 f(0)=c=1 f(i1)=a+b+c=5

w4 a=L, b=, o= fo=Lxrellx 4y
@)1 -t
f(-n=L-pa+H- 1+ =-Z
2 (D i fm=2"hk e, ()
W, f<z>=»3‘i{2§-f—1~= 2ol f(5>=2i2:}_1.=%,
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(2) Fua = CWD 120y kouy, u, uy,

n -1

(=T 2 (- 1T 2

B 4-1 73 WEm T V2
o= =DV U1
o 11-1 T 10

(3) Hy=—L72_ xy(2), y(5).

n¢+1
_ 2=-2 _ __5-2 _ 3
) )'(2)—221_1 0 ¥(5) s =

1.27 (1) E%ﬁ?ﬂlj - 1, 1, - 1, seey ifc)‘f\‘f(n)ngﬁiz\:it
W f()=(- 1)1, n=1, 2, -

(2) BRI 15 g 5o WKW SR,

23 34
— 1 llllll
ﬁgg f(n)—m, n=1, 2
1.28 RF FER 0 {8 38% s
(1) f(w=->_ (0<x<1) M, (RN 1 <{(x)< +oo

1-x

(2) y=In(1-x) (x<0)

e x=0W la(l-x)=0 HEMA 0<y<+oo
(3) @(x)=5" (moo<x < +c0) f: A 0 <p(x)<+oo
(4) y=o/x=x% f@: EEMB/MERO, THEHREFTHR x-x*MBkHE

x-x? =-1—-x’+x - = - (x‘—’;)z

¥ x = Lipx -5t HROKML, REEMERN 0 <z<i

1
X2 +5x+ 6
B2, x2+5x+6 —>+oo(x—c0), FEHEWHITH, &Ny WEBRE O “y< +00
1.20 E¥ (0 WRIFAEH, UTERTAEX
(1) y= {® (L HEBLD B G HEHE, (0>0, B

AEEX. nEEE, - <f(x)<co@EmHEAHEX
e (2D (x) =logaf(x) (a>0) B {(x)> 0 NEEAHFERX,

(5) y=

1,30 SKRT P& EENIE S, HERESE L.

(1) y=x°=3x+ 2 e BXH R -co<x < +o0



(2) f(x) =i

X° + ]«
W v x+1>0, SEXI R —oolx < + oo
- lul
(3) F(u) “a
B CAORTREERO O SADUMN —oeTu-T0, 0 <u< +oo,
= 2t—1
(4)yw-7ﬁ%;w

. t2-3t+ 230 (t— 2)(t=1)%9 tw 2 3 1

BEXRN -oo<t<l, 1<t<2, 2<t< +ox,
(5) y=o/2 +x—x*  f: 2+x-Xx°20

X=-2=0 x=2
{x+1<0=${xg—l xR

% {x—zso é{xgz = -—1<x<2?2 HEXMI-1<x2
X+1290 xX=-1
(6) p(r)=——""4

S rior—2
B r2-1r-2>0, (r=2)(r+1) >0
-2 r>2
r >0 {
Lr+1>>90

s {r~2<0 = {r<2 =>rc-1 BMEXHIr<-1%Hr>2
r+1<0 r<-1

=>r > 2

|

(D X=X -1 +2/T X +/xFF1
M x*+1>0, VEx-120, BIx>1, XE1-x>0, Mx<1, Ay
ﬁygx:lc ﬂﬁf)‘(ﬁj’ax=1,

(t)y-uT%?+Jx+z

. {1—x>o s {x<1 L HEXS -

X+2>0 x>~ 2

— 10 —



